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QUESTION 1

You have set up a Microsoft Cluster "file share" resource called "EngDep". This is dependent on a physical disk
resource called "DiskE" and on a Generic Script resource called "HSCScript", which is the Hitachi Storage Cluster
(HSC) script. In which file is the HORCM instance defined that needs to be active for these resources? 

A. DiskE.conf 

B. horcm0.conf 

C. EngDep.conf 

D. HSCScript.conf 

Correct Answer: D 

 

QUESTION 2

You are using HiCommand Protection Manager (HPtM) Volume Shadow Copy Service (VSS) backup for Microsoft
Exchange Server 2003. Which two statements are correct for a true online backup? (Choose two.) 

A. No need for separate VSS import servers. 

B. VSS guarantees the consistency of the data; 

C. Dismounting and other processes are no longer required. 

D. VSS import server has to be installed on the application server. 

Correct Answer: BC 

 

QUESTION 3

A customer is planning to use Universal Replicator for Disaster Recovery for several mission critical applications
between two sites connected by an OC-3. Which two are required before replication can take place? (Choose two.) 

A. Channel extenders must be in place and functional. 

B. Journal disk space must be installed on both arrays. 

C. Sufficient buffer credits must be available on the switches at both sites. 

D. Two CCI servers must be configured with network connectivity between them. 

Correct Answer: AB 

 

QUESTION 4

A customer wishes to create copies using Copy-on-Write SnapShot of a database containing a large number of changes
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-- about 50 percent for each day. The customer also wants to keep five copies of the database though access to the
copies is not high. Which statement is correct? 

A. The pool should reside on external storage to keep costs low. 

B. The pool logical volumes should be the same size as the production logical volumes. 

C. The database should be copied using ShadowImage and not Copy-on-Write SnapShot. 

D. The pool should be at least three times the size of the database if Copy-on-Write SnapShot is used. 

Correct Answer: D 

 

QUESTION 5

When integrating NetBackup with HiCommand Protection Manager (HPtM), which two options must you specify on the
backup Linkage tab? (Choose two.) 

A. the backup product name 

B. the number of backup policies in use 

C. the backup version and backup vendor 

D. the number of days to restore the backup catalog 

Correct Answer: AD 
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